MATHA425 - Quantum Field Theory
Set Work: Sheet 5

1. Show that
[V, a7p] = 2(6 A7 — 6" p90)-

Hence check that )

7

EAP:S

[7A7 FYP]

is a solution of
5637, — 6% pva) = i7", Bl

2. Defining +° = i7%y'v243, show that
4Pt =B
{7*,7"} =0.

3. By inserting (y*)? = 1 for some p = 0,1,2,3, write each of 7v%y'7* and
79v1~3 as a product v>y¥ for some v = 0,1, 2, 3.

4. Show that
tr[vuvw] = M-
Now show that

VYoV Yo = 2N YpYo — 2NupYv Yo + 2Nus Yo Yp — VYo Yo V-

Hence show that

[V Yo Yol = ANpNpe — Nuptve + Muo M)



